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1| RIGE 1 TOT47 1900 960 2860 2860
2ithAtiE 3 BHES 1300 480 1300 1300 4380 2600
3| T 3 R 400 1300/ 640 2340 1940
I =ZEBR 2 R 240 640, 1300, 160 2340 1940
5| FHNE 2 BES 480 1300 1780 1780
6| fERUVAE 3 TOT47 640 480| 480 640, 960 3200 1600
6| ERER th3 SFC 640 480/ 960 640 2720 1600
8 hEER 2 BEA 480 960 1440 1440
8|5 HHAE 3 BES 480 960 1440 1440
10|fB L& 3 BEA 1300 1300 1300
MHHEES 2 Rtk 240 640 640 1520 1280
11| EHEEK 2 Rtk 240 640 640 1520 1280
1|AEINNER 2 TILEKER 120 320/ 960 1400 1280
14| TR &L 12 Rr)42%7'89 640 480 480 1600 1120
14| B ARRE 2 &R 480 640 160 1280 1120
14| KT #adi 2 &R 480 640 1120 1120
17 & BRI 3 &R 400 640 1040 1040
171 82RE 3 &R 400 640 1040 1040
171 fHMBEAHT(F 3 &R 400 640 1040 1040
20 |t E#HTE /N6 TOT47 240 30 40 320 640 1270 960
20| R HEEB == TOT47 240 30 40 320 640 1270 960
20IIDER 2 T EKER 960 960 960
20| i &1 Rr)42%7'89 480 480 960 960
20| HAILE 2 t R 640/ 320 960 960
20| RFEGH 2 tik 640, 320 960 960
26 ®H 15 1 &R 240, 160 640 1040 880
27| BELH 3 DJTT 320/ 480 800 800
21| BETTH ==K} DJTT 320/ 480 800 800
29| EREFH 2 (=) 240 480/ 160 880 720
29| KB B 3 2 HES 240 480 720 720
314 E3F $13 BHEA&® 120 320/ 320 760 640
318X A 13 BHEA&® 120 320/ 320 760 640
33 AEBTE N6 | ELVDATZRRAR 360 60 80 500 440
33| MABEH 3 T EKER 120 320 440 440
33| NIIMRE 3 T EKER 120 320 440 440
B3| FEFE 2 T EKER 120 320 440 440
INERES 2 DJTT 320 320 320
37/ &M # 3 TOT47 320 320 320
| BHHAH 16 DJTT 120 80 60 80 340 200
39| BHIBL N5 DJTT 120 80 60 80 340 200
39| BEAR A /N6 Ary42%'89 120 80 200 200
42|\ FREB#F 1 =g 160 160 160
42\ A EiEF 1 ML EKER 160 160 160
42 SRERE 1 OERVAEE) 160 160 160
42| BIEE <& 2 ML EKER 160 160 160
2| INFFEER 2 OERVAEE) 160 160 160
42 B RN E 1 R &R 160 160 160
42| AFER 1 &R 160 160 160
2\ )FEE 1 R &R 160 160 160
42| )IIFHREE 1 R &R 160 160 160
51| FTHETE =2] DJTT 60 60 60
51| FTEME NG HEET 60 60 60
53| fahib % == BEAY 40 40 40




